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oYkl = 10,000
c2d4d = 12,620
o & = 19,600
202
oF Hl 53,200 56,000 A2,800




Z+:(2000) Ab3IOHEEHI 2

(2300) At&l

Mg (2311) S F 2 21e|

NIAIEE: (120) B & = I

[NE] [ H&]

o =l
o & & E=
.2 N AN =2 o =
53,200 56,000 01 2ol
oc=EXFM AR 53,200
HRFZ 70,340 70,340
4,200 4,200 01 JI 2RI YL
o2 4,200
50,600 50,600 03 AIFX ALY
o=Xl - B2 - BA HOAMEX 35,000
o= - SAAMEZA 12,000
o=XYMALET 3,600
15,540 15,540 04 FASAYREAY|
o=XHM 300,000 3,600
o HAS M} 395,000 4,740
oty Zeln 300,000 3,600
o2 300,000 3.600
AP A 50,700 38.600




X1 (2000) ALBI N2 H| 2+ (2300) Al 3] 5 (2310) ME =X HIgt: (2311) =X " =22 ML : (120) A= A | EBIECREN
ut = o A o 3 = | oy Il N = ) .
I s ME L AIAIE = oM = oA N
32,700 20,600 12,100/09 B AMAIH| B A2
ocoeotEsSEL Y 29 25,600
QIEt NS 120,000 x 160 19,200
= 40,0002 x 1602 x 13 6,400
CANHOISEINSEIL L THNHZOIAHBA (B2
1,100
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(2) 72,000
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of Ab o A = Il =
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(=) 43,620
(2) 101,780
oHHAIBSMEIE 2Y (20H2) (XL0lY) = 54,040
(%) 32,424
(2) 21,616
SOl A EONQIIAIS ROIAIY (XI0]Y) = 35,000
(%) 21,000
(2) 14,000
oHHISEHSS A (X0lY) = 28,760
(%) 14,380
(2) 14,380
o BHIESX 2 SEXZA X = 15,600
oXjANS 29 = 23,000
S HOHQIRIEALE THEALSAX AN 109,800
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SO MBAL 2% (19H4) (NL0IY) = 1,467,123
SHAMATBAIL 2 (8)4) (XL0IY) = 88,863
SHAXONOIS LBOIZ +H (XL0IY)
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50,000,0008 x 77K x 50% = 175,000
SANZZNALSSHEH 2

55,000,0008 x 120H4 x 50% = 330,000
S M HZZONQ b

35,0008 x 1,300MCH x 12 x 50% = 273,000
o Z ool 2R S|
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ut = "SI E == ] Il
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- 30| et 90,0002 x 3% x 12H& x 50% = 1,620
-3 ~ 54 120,0009! x 8% x 120HE x 50% = 5,760
- 50| & 150,0008! x 172 x 128 x 50% = 15,300
o XSS ALALY (199%) (RIZ0l)
16,560,000 x 10% = 1,656
oL =TAH 29 (XZ0lY) = 11,665
cFRYSHH| (XZL0lY)
4,584,900,0002 x 25% = 1,146,225
CARYEASIAIY (X0 2t)
10,000,000 x 4902 x 25% = 10,000
cPFRAY P34 29 (XY0lY)
1,520% x 2,040 x 3002 x 25% = 232,560
OMASMIIEQl AAMHE (XIZ0I2F)
888,840,000 x 25% = 222,210
oL QIAATICH (XIL0|¥)
22,8802 x 1,122% x 15% = 3,851
STII-EXAIE 29 (XH0lY) = 315,936
oLQEXAE 2% (XY0lY) = 980,508
oo=EX32 29 XY (XNL0lY) 169,992
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Ol A o At = p] =
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031§CF L.|-tiF|:|| Ij|.x| 2|

500,0002! x 201904 X 50% = 50,250
oStEA 2YXA (1hA) 80,000,0002 x 50% = 40,000
HASSHLQII? FSH X

30,0002 x 12,2697t7 x 32 x 50% = 552,105
oL oIHABEI|T 2,300,0002 x 416CH x 25% = 239,200
oMASLQ BHI| X
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OMASLOIN OHEEA

1,000,0002 x 2007t7 x 50% = 100,000
COISEXAE 2% (XZolY)

4,626,884,0002 x 15% = 694,033
ool ey (XLolY) 173,114,0002 x 25% = 43,279
oculp 29 (XLolY) 14,334,0002 x 25% = 3,584
COISESHII|2 2% (X0lY)

231,684,0002 x 25% = 57,921
CIIHAENRME 29 (XZH01Y)
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Ol &b o A = J| x
I o B NIE . HIAIE = of A M| = oA
CEAOSIEFAZ (X20/Y)
70,000,000 x 25% = 17,500
CZAIOISSAIX Y (XI0|)
843,010,0002 x 25% = 210,753
CBNEXALE 2% (20HA) (XL0l)
283,910,0002 x 15% = 42 587
CINERNNAL EIAT HSHEZ2 (X2L0I)
34,000,0002 x 25% = 8,500
CUSFl= DIERLE s T2LAT 29 (X0|)
55,872,0002 x 25% = 13,968
o833 O{2I0]LEH A} = 30,000
coH20E s 282,600
CEDANTYH| 80,0002 x 6502 x 50% = 26,000
- 2=BH0J B H| 100,0002 x 800% x 50% = 40,000
stz 200,000 x 650 x 50% = 65,000
st 2 Al 1,0002 x 800% x 200 x 50% = 80,000
UNEPNEPIE<p: PN
100,0002 x 200MICH x 28] x 50% = 20,000
CJMEQEtB S
43,0002 x 200J+& x 122 x 50% = 51,600
CEAOISXHEH FIXL
2,000,0009! x 66 x 50% = 66,000
COISSHHHSME S4224
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ut = "SI E == ] Il
off &b o A = | =
2.5 ME . HAE = of & ¥ = A
100,00080 x 132 x 128 x 50% - 7,800
CHASED - 2RI K& 301,890
- s 126,0002 x 1,450MICH x 50% = 91,350
THHAS2EL (- D)
20,0008 x 8242 x 23| x 50% - 16,480
THE SIS S|
20,0008 x 824 x 50% - 82,400
CEHDA P (F- D)
80,0008 x 8242 x 50% - 32,960
S LI 100,002 x 1,574% x 50% = 78,700
CRNINPE JI2DS 60,000
A2 U Wat|
400,0002 x 502 x 32 x 50% - 30,000
P ESE 400,0008! x 502 x 3% x 50% = 30,000
CcRNESAETE On-Line st X
15,000,00080 x 244 x 50% - 15,000
SALBAX HMAHl (ZO0H646, OFS - 2X201, «01297)
922,920
. 3E0/er 100,0002 x 3432 x 128 x 50% = 205,800
.3~ 54 130,00080 x 2882 x 128 x 50% = 024,640
SIENPY, 160,0002 x 5132 x 128 x 50% = 492,480
SOIEY ARSI 1,000,00080 x 24CH x 50% = 12,000
CARDEOO HE AT

_20_
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of &b oH A 2 ol =
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40,000,000 x 8JHA x 50% 160,000
OXOHOIMEIAIA SHAXN
4,000,0002 x 15A14 x 50% 30,000
402
0I2LR}= 0] 212,333 0 212,333
&
212,333 0 212,333/01 QI2tKI=2E X
oYU E(0 SEHEXNATE L XAFZA 107,000
odRAS)(NBER)RL 22,000
A2 3T JseY 20,000
SEOHO XISAIE TWEAIE JISEY (X0
63,333,000 x 100% 63,333
[ 44,333
= 19,000
403
XX SHHE 2,824,100 1,718,500 1,105,600
=0l ™
2,824,100 1,718,500 1,105,60001 KIXISHRIK =22 =
CEMSARSUSIANY THEY (2X2) = 1,248,500
ST QIEXAIE JISE2 (KIZ0|)
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Z:(2000) AFBIOHEEHI  2:(2300) AbS| & EHHI 8t:(2310) &= AIgt: (2311) =X F = el HIAI - (220) RERI AL EBIEER-E)
ut = 7SI I == B Il
O &b o A = Jl =
.2 g ME AN =2 of &b o = A 2
20,000,0008 x 25% = 5,000
MBEX2 JISELAY (XIZ01)
106,000,000 x 35% = 37,100
oESLHOISSH KYHE HHEY (AR2HH) 13,500
CEEAXIANXEFRY (AEEIX 5015)
20,000,0002 x 1CH x 50% = 10,000
CHZENE (HZRsE8)
4,000,0002 x 1CH x 50% = 2,000
- =0IX2II7 (88) 900,0002 x 1X x 50% = 450
2AFE 2 1,500,0009 x 1CH x 50% = 750
AL 300,0002 x 298 x 50% = 300
offotz HoHoIsX2 AE 300,000,000&4 x 14l = 300,000
oLQ=X g2 AE (2, 04
600,000,0008! x 2IHA x 50% = 600,000
o (Ot BE=ERIR (MY, 2H)
200,000,000 x 50% = 100,000
CHYPAZTI TG ALY (E=4t)
1,000,000,0008 x 50% = 500,000
oG AANLEY (HY) 40,000,0008 x 50% = 20,000
701
JIEHS| A & 14,992,226 12,608,056 2,384,170 22 2850|2 SL3H M&E23 = 14,992,226
=2

_22_



ZH:(2000) A3 OHEHI 21 (2300) AbSI 2 ZHHI &:(2310) ME =T HIE:(2311) =X & = 2te) NI KIEE: (220) KERIAFS [HE][SR A ]
2 = S == S i}
o & = &k = Il =
.8 NE . MAE = Of & % = oA
702
Jsd&Es 1,711,542 1,369,212 342,330 | e Mol *= 013 342,308,395,000& x 5/1,000 = 1,711,542
AN = & A 259,248,924 272,905,387 ~A13,656,463
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